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Choose the appropriate figure from thet¥nswer 1"*"14;3\';"‘3:I to replace the question mark (7).
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Choose the appropriate figure from the Answer Figures to replace the question mark (7).
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3. ﬁﬂﬁﬁ?ﬂaﬁ;ﬁmtn‘rmﬁm%maﬁﬂm

(A) (B) HEENEH (C) e (D) =

PIANO is to MUSIC, then what is to LITERATURE 7 R

(A) CRICKET (B) MICROFHONE  (C) ARTIST ' ' (D) POETRY
4.\ i

Hifefen wifear - = o iR . O

(A) Egt To® £ (C) @ (D) W3

Complete the analogy ir ;

'Otitis media' ¢ 'ear' - 'Cataracts' - = E

(A) Bane (B) Kidney g (©) Eye D) Lungs

. .. B

5. TEATTEME WowmmRE e g

7 is related to 49, in the same way 9 is related to :

{ﬂ} 22 EE;; £l iy 77 () 65
6. uft o g AL 3l s wE # e m‘dﬁmwaﬁ:ﬁﬁmmﬁ%ﬁmﬁ@%gg
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(A) West (B} North (©) South!'''’ 1. (D) 'Eagt 1 j
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(A) 2.5% (B) 28% & 0% (D) 3.5%
The given bar graph shows the marked price of five different products in a showroom.
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! [ Marked Price (%)

If the marked price of the laptop % 15% more than {f¥ cost price and the shopkeeper offers a discount of
10% on the marked price of the 1aptop, then find the fifpfit % of the laptop.

. (A) 2.5% (B) 28% 30% 2 (M) 3.5%
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(a) sfeorafim (B) Favafim (c) it (D) -
Arun wants lo go to Anu's home. Anu's home is 5 km MNorth-West of Priva’s home which is
J12.5 km East of Tharun's home. Tharun's home is 3 km North-West of Arun's home. In which direction

is Arun"s home from Anu’s home ?

{A) South-West (B) North-West (@ South-East (D) North-East
0. Tamifefins war &, ST {30 T ¥ ¥ W SH ey v P v & | 3 e e e T w7eE 3 SR T

e i e A e | SE AR R e 4 il

fray vy e < "INDEPENDENCE"

(A) NEEDED, (B) INDEED

In the following question, you will find four Dﬂ:llﬁl'

words cannot be formed using the letters of the g

Given word : "]'N'DEFEN‘DENCE"

(A) NEEDED (B) INDEED

G T

ENAD (D) DENIED
provided alongside a given word. One of these
ard. Tdentify that word. '

(C) PEENAD (D) DENIED
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1. aﬁﬂiﬂ%ﬁqq'{ﬂ|
2. m#%m_ﬂ_
(A) 2R Frend oo oy & (@) e Pt 2 s ®

© ?ﬁrﬁﬁﬁlm?iﬂﬁmﬁzmaﬁﬂ (D) v Frd 1 ST B

Read the sta't'-"r:mits and select the hest mn@inm’mnclﬂﬂiHHE that follows/follow the assumplions ma
in the statementy, e
Statements ; @)

1. .In anﬂmickelmmhtm total runs mildle by a team were 120.
2. Out of these, 60 runs were made by ﬂpiﬂm- "

Conclusions »

l.  20% of the team consists of spinners.

2. The middle order batsmen were Spinmners.

(A) Both the Conclusions follow (B) Only Conclusion 2 follows

(€) “Neither Conclusion 1 nor Conclusion 2 follows (D) Only Conclusion 1 follows

i1, ﬁmﬁmﬁﬁﬁnﬁmnﬂﬂnﬁﬁmﬂﬁﬂﬁﬁ&: St
M%N'ﬁlﬂﬂfﬂ'h{,ﬂﬁﬂﬂﬁ'?| . + - qf L
M@NF M, Nframrd)_ 24 . ! ?
MENTTAE 2 M, NFr a2 E : ? %
Frefesfiaa & & Fam g 1S, @ = i & s 2 0 ' :
@ Qss@r éﬁ'@@%s & ) osPus (D) Q@S %P
Each of the following quesfions pertains to Th@giv:niufuﬂnaﬁﬂn: L

M % N means M is the sonof N.

M @ N means M is the sister of N.

M § N means M is the father of N. _

Which of the following represents the relationship S is the father of Q" 7

(A) Q$s@kp (B) P@Q%S r (C) QSP%S D) Q@S%P
12. "'G","A"."R"."H_","I"."T"wﬁmm%mmmmm{&m

Find the word that can be formed using the | "G", "A’_‘._"R", il ) Ll L

(A) GRIND TRAIN 3 () GEAR (D) NIGHT .
13. mﬁm%ﬁmﬁﬁn%ﬁﬂﬁmﬁ?&ﬂﬁ:

5 Ca (B) T @ © @ (D)o
Clouds are related to Rain in the same way as Air is related to - ;
(A) Cold {(B) Warm (C) Wind (D) Dust
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Examine the provided di { umlsnd respond m. the t‘u{iﬁ}wh}.: question. RS
; ) —> Emplayed people
/ uf;ﬁ 1 ~wniscnintincpic o0 Y U
R R T R
How many educated individuals are considered bikward ? R s ) 17

(A) B (B) 14 © 13
U WAE H, T TR R 21 = it woton oe 8 26 s Tt amETCTE e § ST 29 =
ST T S WA et € | e sveman, 14 Slile it o e = T ¥ WO TR 8, | 5 =ik
ey 3fte el v S WA B e v, (s St St et ST S T 3 ST e 6,
#R, 3mﬁ“ﬁfﬁm$mﬂﬁ'ﬂﬁ%]ﬁﬂﬁmﬁ Sy T 5 TR ved -
In a survey, it was _|:||£-|::n1.=~|:n:|:l that 21 individuals read English newspapers, 216 individuals read Hindi
newspapers, and 29 individuals read regional language newspapers. Furthermaore, 14 individuals read both ./,
English and Hindi newspapers, 15 individuals read both Hindi and regional language newspapers,
12 individuals read both English and regional language newspapers, and 8 individuals read all three types.
of newspapers. How many people read only regional langnage newspapers 7

(A) 10 (B) 12 ey 14 (D) 8
16. | W ¥EET I R | o
| Find the missing number. i e e
13,1, 17,7, 21
(A) 9 ' By 7 2 N (D) 5 7.
17. o i wif E /%
g‘zdnm: missmgﬁpr?imgﬁ C106D ® b
(A) ¢FTmD P 'quﬁ C2C3D @ (o) ccp7 (D) C2C2D
18, TR alb=a— b, 54 T, p=6 #1% g=4 EA W plg FE? -
If alb=a—b, what is the value of p!g if p=6 and g=4 7
(A) 2 (B) 12 {C) 10 (D) 8

19. wﬁﬁhmaﬁﬁmﬁﬁﬁaﬁi,'ﬁqﬁﬂﬁqﬂmﬁﬁﬂﬂﬁmmﬁhmﬁm%rm =T

fifi a7 & 7 . ' ' T
(A)  raré a6 Srefir waet S s A e (B) Frafim opeme 1 omed i qun AT E . ~
(C) aqFerafire T ot Zet w1 o g & (D) Yrafirr weviy safim A

A teacher tells her students, "Studying regularly leads to better academic performance.” What is the

implied meuning of this statement 7

(A) Studying has no effect on academic performance (B)  Regular study habits improve fmd,cg_ f
(C) Irregular studying is equally effective (D)  Academic performance is random f
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A3
Fererry 3w, Pl fiverr & 2y
0. v fim 3 a0 efer i |1:1#M§'nﬂﬂ'fﬁfﬂ“mflﬁﬁﬂquu &
ST 7 ¢ 1 g v B 4 i et vy o o sy gy ffe o 2 D) 12k
f &z (m o by After the addition of some more milk |
‘“Tﬂﬂrﬂmuiurccnntmm milk and water in the rali of 17 3. The quantity of milk added to it was
i, the ratio of milk 1o water in the resulting mixture h‘;g"r:: J g (D) 12 litres
(A) & litres (B3} 6 litres ( it S EIGIE
11, aﬁaﬂﬁmﬁzmaﬁmmmqﬁmrmﬁnwiﬁmw&gw 3
v wee af P R B 7 % T 8,000. What
l&ﬂ A reduction of 20% in the pncc of rice enables ucus{mﬂr I.II'E!'.I.B-J_I? 125 ltg mare for 3

0 the original price of riee per kg ? 9,
15, T T15 () T14
‘ (A) Ti6 @ ri2 | ()
"-1 2 %ﬁmm‘imahmmhqﬁﬁg zsgmaﬁﬂzﬂmﬁwaﬂmaﬂrﬁiﬁrﬁw%
o 1"} i
Eﬂ"f{" l.B-B‘ The a"-"'El.'ilEt[: of 9 numbers E 2 verage of the first 5 numbers 13 25 and that of the I
3 numbers is 35. What ig th number 7 D) 20
[,'13 ~ (A} 30 40 (€) 50 () ol i
23, A ¥R B e mitesTr e 1400 B Baﬂrc#ﬂﬁ{mﬁmmnsm%aﬂ!a C %1 e
FET 1440 B 1 T oo s En e -
The average monthly income of A and B is T 1400, tha{}al‘B and C is T 1560 and of Aand Cis¥ 1440, T,
%ﬁ, monthly income of C is

24, 413ﬂ'{49ﬂMmHﬂﬂ{mM}mHHﬂ{HCFﬁTﬂﬂqﬁma
The LCM and HCF of the numbers 42 and 49 are in thigatio of 31 29%. ?
\9‘3 (A) 7:2 (B) 42:1 @ 2:7, ®©)
15

(A) %1500 (B) T 1400 {t%!liin {'!Eﬂq-,_&-'ﬁﬂ)

T TETITET T S 6 S g, 240 f_‘!ﬁiﬂﬁ-‘mﬁmﬁﬂﬁﬁ i i v
‘}r aﬁﬁﬁmﬁmm%lm‘mmﬁtﬂﬂmf Fmht e s i | B
‘|- (A) 300+, 180 Befie (B) 3004, 150 Tt __,,.-—~
15 (C) 2004, 50 Fediee e.%ﬂ 360 1ft, 216 Fedtreer 1
A train trawlll.ng at a uniform speed, cle orm 240 meters long in 10 seconds and p:um

telegraph post in 6 seconds. Find the length of the Imm and its speed.

45 H
(A 300 m, 180 km'hr 300 m, 150 km/hr "-ﬁc 42-5‘_5.
() 200 m, 50 km'hr 360 m, 216 km'hr
26. 90 TRt Fr = & wer T 35 e s wmet & e TR O A | e ag s
.5 (A) 1.0 %FTE (B) 1.4%=0E (5 HFE (D) 1.8 8%vg
The time taken by a train 35 m long, running at 90 k in crossing an electric pole is
(A) 1.9 seconds {B) 1.4 seconds [ 5 seconds My 1.8 seconds
27. U A et i A T 52 o7 S Attt o s a6 T 42 o )l i e
4R st i e 50 ur, e ke skt s SR T —_—
iﬁ lt'.Lr The average salary of male employees in a firm was T 32 and that of female employees was T42, If
s;u.lm-_!,.' of the employees was ¥ 50, what was the percentage of female employees 7
5!"_.'! (B) BR% (Cy 3 (D) 86%
- ﬁﬂmﬁjzﬂﬂWE;%ﬂHﬁmm?ﬂf#EﬂﬂﬂﬁﬁfﬂﬂﬁﬁﬂﬁﬁﬂEﬁmﬁﬁﬁF
%, oy e TR ® 7

1 1 i
i \ If the sales tax be reduced from 3 3 Yot 3 i‘}{n what difference does it make to a person who pur

% C £
U‘: i arficle whose marked price is T4,200 7 r’?’v ﬁ
/(A 6 7 ©) 210 4

e e L L b R R T
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29. PQMRIwAGha L. 2, itﬂﬁqﬁﬁﬁﬁmmﬂ:mﬁmjjﬁwﬂumﬁm.ﬁﬂﬁ
ﬁﬁﬂ%?ﬁfﬂﬁﬁ.ﬁﬁu‘-{'-‘.}#Mﬁﬁiﬂﬁﬁmﬂilﬁ%ﬁﬁiﬂﬂﬁ?lﬁ.zlﬂaﬁaﬁﬁ?{ﬁﬂ'ﬂ

e & 9
P, @ and R cnter into o partnership by investing their capitals in the ratio nl’% ; % : : AREr
4 months, P increased his capital by 50%, but Q) decreased his capital by 20%,. What is the share of Q in
the total profit of ® 28,210 at the end of a year 7
(A) £10,140 (B) 10,075 " (C) 783,200 (D) T97,500 5 2
0. ﬁﬁaﬂtﬁm@ﬂmwts: 14 8, W ufrm wn gy LY 15
The mlmznt"cnst price and selling price is 15} 14, then the loss percent is ° S
@ 162 % ® 4% . @ (© s | 10, © 65% b 5
Lo di 16 j : [ 7 9
S\ 36 §ig mlaglmwimmﬁg_]ﬁ&m. St .(_21 19
| FlndtheLEMufE,E,?,Jﬂ*. | m@ [ X wa.
& 5 ® 3 i @%‘" ® 3 ’_1/5:?\’
32, T3T7,500 W 4 Tt & forg 204 ey ook oy =0 4 T Savsr o wom i | _ v 1 l"tj.
Calculate the siniple interestop ¥ 37,500 at the rate of 2% per afnum for 4 years. | 23509
(A) T3500 /@mm (C) %4000 (D) 5000 (o
33. g?zmﬁusﬂm ﬁzlﬁﬁﬁﬂ?mﬁ.ﬁﬁmﬁaﬁzmmﬁmmmﬂmﬁq
? A
(A): 40FEH, | (B) 4BTEH ¥ o nwes /@f‘“m* <3 éd—
If 72 boys car build a wall of 280 m lcnggin 21 days, how many boys would take 18 days to build a
similar type of wall of length 200 m 2 & 37

(A) 40 boys (B) 48boys g (C) 28 boys (D) 60 boys

: : o
34, U =Tl HfE e W A% i’mtzﬂ@mug?ﬁaﬂﬁ%ﬁﬂqmaqgﬁ%mt
35%mmmmﬁlﬁrm@gfzﬁmﬁw@wm@ FRmatwEl
le free for buying every 15 articles ?)

o

A tradesman gives a 4% discount on the marked price and gich :fn_anir: :
and thus gains 35%. Find out by what percentage the marked prifie is above the cost 1:21:::. ..% Y M :ﬂ_
(A) 39.6% (B) 40.6% (C) 50% (D) 22% "11

i e | 4 s 2 e frer 8 8 R A S 90
2 o SfiT 1 AfEeT O W T T A 14 Bl 3§

Srerir S it e mifven Wi fi T forerm =i 2 [
et § 1R ﬁT;iuSnmp -:'E'a p?:::: of work in 14 days. 4 women and 2 men together can P

2 men and 1 woman

it i hould a woman get 7
do it in 8 days. If a man gets 600 per day, bdw much s |
m}] ':450} (B) T4E0 0 (© TI60 @ 400 12,

| i e firesr o it e 3 za ad 60 =g T | 9f ,,@-':'f
6. el ¥ o @ A ate 3 R o LT o ﬁﬁﬁmﬂzﬁﬁ%ﬂLaﬂ& o T
”#mﬁj’;zﬂ%ﬁaﬁ'ﬁ?ﬁﬁ i ks _mﬁEﬁ -~

wWag

ther & ey wferarer A 8 7 :

A factory's yearly budget for the purchase gfgmployees’ protection shoes increased by 60% this year over
ory

las If the price of the shoes increased fiy 20% this year, then the number of shoes it can p piase thin é
t year.

f shoes it purchased last year ?
year is what percent greater than the number of shoes 1L p ¥ . M .

Lo (B) 142% yrip  (C) 48% 1 A
.4-{%% ---------- () S
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q'l‘l‘lj R 1 g

E 5
3 arit feverma &, 7 gy =
37, v e g afye ol Srpnr 30 7 &) A e e A 0 T T o 7Y WerET oA | ;3
tlﬁ?‘ﬁwwmﬁmF (D) 10
15 el By 11 Ehe () 13¥ A i
The ratio of milk and water in o mixture is 3 : 7. If we add 10 litres of water to the mixture, then the

becomes 1 1 3. Find the initial quantity of milk.

i i lit
I1 litres o (C) 13 litres J (D) 10 litres

{A) 15 litres (B % e 3
-ﬁﬁhﬁﬂﬁ&mﬁﬁﬁwﬂMmﬁ.ﬂ#mnﬁTﬂm#mﬁ”ﬁ wTE 1000

'mtlﬂﬂm}mmm’ g satac
The amount of money appreciates to % 700 after Bhcars and to T 1000 after 5 yea
interest compounded annually. The initial amour@Bf money was ;

griain compound

| T 490 (B) T410 %(CJ'T‘”” 400 {%};f?ﬂﬁa
390, Pt & @ e @eivg) T g ; q - 0 ﬁ
Find the odd one from the following : W‘I‘% gl (:r"' L %?D 3380 '}ﬁE-— :
(A) 4096 (B) 4913 n 10 " (C) 55@%. ,:'._-— ,-} ,fp
g0, el s i sl e g A —-, )8/ | :
-~ Find the next number in the following series : .

220, 221, 229, 25 p 0
(A) 10 \“L?lq:ﬁ} 280 c) 312 320 !E_' 0

a1, Freew i, o, il v I A e ader wf g aft gl Xy W s
Choose the correct mirror image from altemativesd, 11, 11 and IV if the mirror is kept al XY. é g

ih :‘E

TR

2
g
e

: (A} 1 (B) 10 () IV (D} 1
2, by e o e 23 e | s s g o e 2
(A) e (B) (C) FeT (D) ate
Sindhu introduces a man as the son of the er of her mother. l_-]-:w is the man related to
Sindhu 7 ord
{A) MNephew (B) Grandson @) (C) Cousin (D) Son
43,  WEF 65 km/he I e wre # A ot d, @ m%m it 5ft o e i i R T w0
3w (B) 44 (C) 5H& (D) 2%
car travels at a constant speed of 65 km'hr, how long will it take to cover a distance of
195 km ?
(A 3hr . (B) dhr {C) Shr (D) 2hr
P et

R
b lt};g.{f X & J_%_? /G};"‘:{ﬁ |
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7f% “GREEN" WHTFITH-?II 49 %, 7 “VIOLET" T “pINEC ¥ e et & ol = S R 7
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44.
If the number code for ”EREEN“ is 49 then the difference between the number codes of “VIOLET" and
“PINE" is :
(A) 45 23 E‘C} 1] {3} 55
o w=st, B, o i T, s R R | H@_ﬁaﬁmﬁlﬁﬂﬁwmwﬁ AT S,
A, mﬂaﬁm‘t . 14
o Afen ¥ | m@&ﬁﬂﬁwtlﬁqmﬁaﬁﬁaﬂﬂm | ez ofit wee v wy T
mﬂﬁlmﬁ{jﬁ#ﬁmmmﬁ r-—-—'———';;]_"'
aﬂaﬂtﬁmﬁ? T A e g ? e 8l

Kéﬂ &w — wgradl, S — FewEi, u;'q' - "f\@ e pre
B ), < — Sz, T A \ A— A
3, #- uﬁﬁfﬁ' Wi i, T - T af ' ‘
4 B <EeerE, S - A, qw-q‘lﬁﬂ AR
mﬁmﬁﬁ#ﬁ-ﬁ‘ﬂﬂﬁm%? :
(A) 1% iy 233 (€ 334 (D) 234 kuf
Three children, Sam, John and Ann, are eating icec _Each child eats a different flavour from mrmlable I
flavours, nemely Chocolate, Strawberry, Butterscotc gru:l‘ifamﬂn
Sam does not eat Vanilla. John does not eat Stravtherry, Ann nEver eats Butterscotch. Chocolate and..fﬂ
Butterscotch are not eaten together, Vanilla and C late are eaten together. N f_.,
Who eats what flavour from the available options 7 E:}’_
1. Sam— Strawberry, John — Butterscotch, Ann — mla:r. - ¢ iz"ﬁ
2. Sam - Strawberry, John — Chocolate, Ann -V 3
3 Sam - Butterscotch, John - Chocolate, Ann — oyl é‘l?i ‘@it
4, ‘Sam — Choeolate, John - Vanilla, Ann — Straw
| Which of the above could be correct 7 ._r’—'_-—’_#’)‘
(A) 1and3 (B) 2and3 | (C) 3and4 (D) 2and4
! Fo B .-.'

I3 ﬂﬂﬁﬁﬁﬁ?ﬁﬂﬁﬂﬂﬂ@ﬁfﬂi}ﬂﬁ%ﬂiiﬁ i B P

Choose the figure in which the question figure (X) is embedded. ' (:,)r S~
: o £
Ay ¥
D& 4
X g m - i v 1

() o | (B) W fio)) i

47, et speren i STl s T A ‘
Find the next number in the following SEnes |

140, 12 S0,
M—;{E 7. nlh

Ay 207 (B) 10 (Ch O (i -0 _

T R SR ey e F iy




48, mp;ﬂnfﬁ,mmﬂﬂ#—mm% 0

Inthe series FINR _ which letter comes next 7

] (B} 3 (C) U i
& :
e B ST T ST R 7 {3

What comes next in the following sequence 1) 2 | | 3}’

. BGEG S Ll 3

o T

50. #fﬁqﬁwﬁmmﬁﬁm _ ,L}quzf’
Flndﬂlﬂ next one in the given serics. q, L
Y T ST A
Given series : I X ¥ uj
& ‘kl‘mzﬁ
DIDINE:
&
is)
w(y @(R§ oy
@"

51, ﬁﬂmﬂﬁ@ﬁmmﬁ‘rﬁm @ 3 2
| Fmdu::-utﬂzcnumbﬂrmfh-mng]ts mﬂwﬁwen figure.
b Bl ] 256
| %
3
* (B) 10 g (C) 20 (D) 12
52, Wit feram & fre s (P £ @

How many rectangles ar are there in the ches ? ?
e S _‘%ﬂ_»

e

= _.. lj)




P BIRDD
aﬁﬁqﬂqﬁ-ﬁﬁﬁﬁmﬂfﬁ sftreT =1 2T R T

Find out the next figure in the ahnw: series from the options.

3 il et

I v

(A) I ) I (©) l‘g () 1
@
&

54, T R s Al —
-

Study the figures given below :
=it for v Figst i 2 =re o g = o e v ek o el vt 3 o

From the figures given below, choose the figure that will be most suitable to continue the pattem given

abowve :

{M 1 (B () *@ (D) 1
55, Hriwig:rﬂ'ﬁm @
G HMEA 3
(A) ﬁw{ﬂ?ﬂh (B) %% (C) wft=r (D) ¥

Complete the analogy :
Fish : Gills :: Human ;

{A) Liver (B} -Ll.:n 25 (C) Brain {D) Heart

56, Frefefi § & i & -0 91 o O wEs S e
(A) R SATH (B) == (C) TRt — TR (D) WY -3
Which of the following pairs of wonds are most similar in nﬁmng 7
(A) Swp - Go (B) High - Low (C) Cw —Smile (D) Start — Begin

57. W9 U= YiF W IHF HWIUW (H9) 5 gUEi6e U g6 maﬁnﬁ_'ﬁﬁﬁmﬂuﬁ&{q&ﬂnﬁqﬂ
TR &, T TR0t S (PR TH- ) W S T R — =3
(A) wfaEe (B) =Y (C) (D) =idae

When a cone is sliced by a plane parallel to its base, but HII@JEEEIHE ll‘erIJgH ifs apex, what is the shape of
the resulting cross-section 7

(A) Hyperbola (B) Parabola (C) Circle (D) Elipse
5B, EER S YR Y
(A) om & (B) =T (C) e m; Emn:n

-
"_'I'i- -



Lo

59. AP = TiErET e d -

CVI (B) = (C) mRT s
60, ST S v, Fe o o e e

L TSI &, 7 57 A

AR A swimn o

@ A (R) FUET @ LUED ,Ij.P'_II T
61. Frelt S e F e F o o e - &

(A) HE=A (B) HE= (C) TEEH {iﬂ} HETaF
62, o o © o e o e o (35/

(A)  HE 7 % o e s | B) R ARy

() TR a2 D) wgmmﬁmafr&eg
63. ‘TN T w1 wdt S v —

(A) s+ fim @) ¥+ Rt (© i +Fiffa fDJ apeet: + Ffe
64, Eﬂmﬁﬁqmﬂﬁ#ﬁﬁmﬁmmﬁg{mﬁmﬁiﬁﬁmmh

(A) Eegm _ (B) wwR

(€) F=h=r R s (D) sreT e
65. = FmwEemaedy

(A) WO (B) 17 () ¥k WD) Frae
66. Tt Faga e &2

(A) TwaET (B) wio= (C) T %D} L]
67. i wom & fovg o g @ He

(A) Rr=mm @ = () foawgsen %J} e werm
68. T i s % wet frwea g )

(A) - (B) HT ~ T (C) W -FH (D) FH -
69. wifey — arefr yreaw e A

(A) WA —gT (B) @t o (C) i — =t (D) T — S
70, TEH G S # | H AL # ' '

(A) Har=T CIGE = (C) TrmErg D) i
7. FefEm g sR-m = e Tt 8 7 3”#"?%’

(A) TH (B) & (C) @
72, it g wfaenitd w0 % o v e w5 e il

e ot i s A T |

(A) ORI wETE S AT (B) Wi i =1 e s e gt

(C) Hea =t =1 STy ST I (D) qﬁa’iﬂrm%w
73, Trefafan d eam g —

(A) Fresmdt safen i 7ve 76 e =i g (B) miﬂﬁﬁrmﬁml ol QW

© aﬁﬂﬁmmﬁﬁﬁm% (D) mﬁﬁh%WW 31
T —




T

pafE TS R
g ((A) TE -

;'.'.m'“maﬁ%m%:
=) S

(o

.maﬁeﬁaﬁmﬁmwﬁmﬁ*
(B) a3

i mﬂﬂﬂﬁ*mﬁ%ﬁwmwm %I

(B) W““g

'J;? e 3 < = R R SR ?
(A) e

' ‘Iiﬁ} e

(B) 3T

(C) Fada=

ATy W

(Cy P fegaor
(C) =R
(C) =i

(C) =t

(B) TR I
e ware T

(C) g

(C) ===

Wy 3 rmelf wrst i rerferfian i gy T T 78 S

LW .
B sammiaamas®: AFET
L;Z {1{} CLEn (B) i
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(D) +EE
(D) T

(D) Farm e

AD)wm

(D) Hep

(D) =& wHH
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T H. 90 H 04 TEFT W & Fareppy =R
Fararil ettt 1 ar g & | g e &
T o e v o a3 _._:;It—-—%-,}m | NI o WA AT ] AT

e =97 i HTH
o oy S o s e 4| 22 302
Sfery 7 W) B wie &, I o A A9 o 0 mﬂlﬁmﬁim&ﬁmiﬁ%mﬁmfﬁﬁmlwﬁﬂf
e & T Fae T % & A 21 e & ) 14 fir, 1949 510 3 srnta Tt 3 R

w6 tzﬂ%mgmdmaﬂmﬁrﬁﬂmﬂﬂﬂ#ﬂﬁmmtlmm__
ﬁmmﬁmﬁwmwﬁmﬂﬁﬁﬁﬁmﬁrmhwm% Trarr feat 3

ﬁﬁhﬂﬂ;ﬂlmw#mmnﬂ#ﬁﬁmrmﬂﬁﬁmﬁmﬁ T 344 1 At
far=alt vy o T afireR st i f we T | &

oq. mﬁﬁz%mﬁmmmwﬂﬂ? _
) s

(A) =t v ot
(C) sfemHt W &) syt et sl I

o1. T viretey virar ot foyer ayvepy ey ot e EWE € 7
(A) T ©(B) TR () fe=

92,  TIEVIHT  WHE S # & O - w6 7
© (A) THFREETETR. (B) @7t 97 o weh T

(C) e i s AT AteFaw AW E (D) i oftfier e 2
93, et v i vy ifiee f frm ad m=mT g €

(A} 1948 (B) 1949 1950 O
94, 0 SRS W LeiatEn A @ sm AR AL £ 3’

(A) WSROI AT {3y

(C) SreraTer s W ) T
95,  sheren § syt s gy fif g9, qé-%@ i

Find the next number in the series @ ¢

57.43,20,15, 198

(A) 1 (B) 2 R - - (D) 0O
96, ot frg A, B 3t C w Tiemen w2 i % = # T § 9 AT 24 HEs, 36 HHE 3 30

mnﬁwmmﬁjﬁﬂ%ﬁﬂzﬁ;m it fiig = aferr e

(A) S fire (B) 6= (C) &z (D) 127=

Three friends A, B and C start running around a circular stadium and complete a single round in 24
seconds, 36 sccum:ls and 30 scconds, respectively, .ﬁfh:r how many minutes will they mect again at the
starling pmnl v
(A} 5 minutes (B) 6 minutes ) ¥ minutes (D) 12 minutes

97. et afte il oy e sy s € a2 I ey wdt 850 F s § oft s @ wwad w0 < 10 % I
gt 2 = ¥

i Tt ;
(Ay d0ad ofit a4 od (@) 32 = i 36 T 'ﬂ.ﬁ;}
(C) 44=dsfimag=d @) 3679 30 40 34
What arc the current ages of Antony and Betty if ti@r ages are in the ratio 8 ; 9 now and will be in the
;:t::u !L}lﬂ (our y;:r: from now 7 C-""f._-\'-,,
YEATS ih VEirs (B} 32 years and 36 years ‘
{(C} 44 years and 48 vears (D) 36 years and 40 ye 1|

S
. - e
-

LR Page 14 of 24
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=

op, A 5T sty o e 3 i s s 7

across all seven years ?

(A) s - (B) et 1) ¢t (o) T
Which chart type is used to represent the ﬁuﬁarmhlp-hﬁtwnm two variables 7 .; -
(A} Line Chan (B) Scatier Plof} (C) BarChart (D) Pie Chant e
.Z- yta H & f?
9 mmm@ﬂﬁm&mﬁwgﬁu ah 3 ‘.
P et g P e AogrGen v, — 4
7 St e @ 1‘“\ n‘f{ Hi_ 5.
4AH | TAH | 32AH | 35AH | S5AH | 39 3 b ( o %
1992 | 75 | 144 | 114 | 102 | 108 | 543 9 : ¢
1993 | 90 | 126 | 102 | s4 | 126 | 528 | 5 b 1 (i//
0 v S
1994 | 96 | 114 | 75 | 105 | 135 |s25 s o 9 £ 17
1995 | 105 | 90 |'150 (' 90 |45 | 510 ] _9 D
1996 | 90 | 75 | 135 | 75 |“bo | 465 P %
1997 | 105 | 60 | 165 | 45 |20 |495 [Oa‘ zb
1998 | 115 | BS- | 160 | 100 gaa- 605 - . {nqu
il i o et o wper et ol B 7T 7 | = % “L-
(A) fAH (B) 35AH = (C) SSAH (D) TAH | 'fﬂ} 0
The following table gives the sules of batteries nmnuil'mlzmr&d by & ‘company over the years, g-‘li;?;
MNumber of different types of batteries sold by a company ::wer the years (numbers in thousands), "‘.E _(?
Types of Batteries .,
Year ["UAH | 7AH | 32AH | 35AH | S5AH | Toial /95"9'# /gg
1992 | 75 | 144 | 114 | 102 | P8 | 543 : | ﬁ%é
1903 | 90 | 126 | 102 | 84 6 | 528 | L
1904 | 96 | 114 | 75 | 105 | @85 | 523 | 35
1995 | 105 | 90 | 150 | s0 | G5 | 510 | 7 {)D
oo | 90 | 75 | 135 | 75 | %0 | 465 E%f O
 [jo07| 105 | 60 | 165 | 45 | 120 | 495 il ; 3 g-
il 1998 | 115 | 85 | 160 | 100 | 143 | 605 1|k

Which battery has the lowest total sales

I. (A) 4AH . - (B) 35AH (C) 55AH

*iﬁﬂi"'.i.i """"""""" Page 15 of 24




0 nﬁ: M+Nm:ﬂﬂm.wﬁmﬂ.t

(.

102. 9% JUNE—* 10-21 - 14- 5, JULY €L

105.

106.

X 5T o
(:';,;;\ "éqfﬂ_ @
T

M~ N o & M, N R

MxNFTani M, NFER PO
< a3 & - e & X, Y o &, o X HEATITEL ) 24
) YXZ+X y ZxX+Y (O} X o
If M 4+ N means M is th sister of N. H B
M = N means M is the brother of M. ' _ i
M x N nicans M is the daughter of N. H; Y, ahera X Sgﬂdﬂ;lﬂﬂlﬂ
which of the fﬂ"uwingshuwe.ﬂ}crﬂlatbnnih:ll?Hﬂ-ﬂ‘lﬂ “5'“3 v (D) NHEF
(A) YXZ+X @ ZxX Y (ORI X X4 o
p.:}mmﬁ.:ﬁnﬁrmtls,"rmrmﬁaa’lﬂ.uﬁﬂmsfqﬁm (D) v .. & related
A CRIE] (B) Hm=ET (C) AT thamﬂlﬂrﬂrq' How is 5 relale
;’ is the brother of Q, who'is the sister of R. § is the brother of T and 1 15
t0Q? i (D) Niece
(A) Nephew (B) Uncle () }?] 9¢

fg,r?fli

1f JUNE — 10 - 21 - 14 - 5,4hen JULY will be {Cgm_u_g-m (@) 10-21-8-23
(A) lll-:*s-:s.-zf.u:u-zl-tz-ﬁzﬁs’mwﬁ _ !+ e g o R B

3 : oy o R T R s
103, Fem =t it Eli'fr'fai‘l'l.' E}'ﬁﬁ? 30

; FAT S 7 : afT
T N () S G l{]]]:};-ﬂ pﬂiﬂﬁﬂmrds which
;'nr a clock with gt hour hand pointing towards the the hour hand at 1.

nc gl . h-West (D) South-East
 Hewm a0 N&h%ﬂﬁﬂ haa {?ﬁrﬂﬂsmﬁan:mﬁ Ft mifER F1 59 T e R
104, ﬁmﬂmﬁmﬂﬁmﬁ f[:-— ; plkidh @
T -
i (C) =g (D) =7
f?;u;i coded as Ianu{ij, Tuesday as March, Th ﬂa}r as May, then Saturday will be coded as @
(A) August (B) April (G, July (D) June
e T et & et s & S AR T Hen e § 4 e R 2
(A) fufacEE) | (@) FE (O e (D) o
mClock” is related 10 *Time" in the same way as "Map" Ig related to which of the following 7
(A) Location (B) Travel { Vehicle (D) Cartography
af wfoy 2rft & har & A dw A v d s 2t o R st R AR TEE A ST, A
(A) EFaEse (B) o T e
(C) witT# Wi (D) Ty witr farer wan

If Mani is taller than Tony but shorter than Deepak and Tony is just as tall as Mohan but taller than Gokul
then Mohan is E\ n ‘]

(A) Shorter than Tony (B) Taller than Deepak

(C) Shorter than Mani (D) Just as tall as Mani T-m

e e e e L R R N NN B e e e e S S S e e et o e
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07, ettt ¥ & srnm shen s Ry ——"
Find the dissimilar numpber from the following :

16, 256, 64,7624, 1024
(A) 1024 (B) 256 (C) 64
108, Fr=erften 8 & svmm dem R
Find the dissimilar mumber from the following : H

1331, 2197, 4913, 5832, 6859
(A) 133 By 2197 E;'m 6859
109. SR iy 5w |mmﬂ@mﬁ%ﬂﬁmﬁﬁ§a%%ﬁ#ﬁﬁf
(A) T (B} Hfrere &) === © (D) TP
The renowned mathematician known for discovering the sum of the first 100 natural numbers is
(A) Gauss (B} Euclid (C) Newton (D) Pythagoras 'S
110. Tl &3 545 3 545 - 125 % 125 T AR TP — | l{'}’?ﬂi e
Which of the following is the output of 545 % 545 — 125 % 1257 /Li%‘ﬁﬂ/
(A) 285400 28 1400 (C) 287500 (D) 286500 |
L. A.B‘Caﬂtnhﬂmﬁ‘aﬂiﬂﬂtm.caﬂtﬂ,%@w!m‘ctwﬁaﬁtﬁlﬁﬁw{ﬁﬁﬁntlﬂ
DT e fem s e i
(A) =i ®) T Hoy o
_,.a,_, B, C and D are playing a game of Carrom. ,a.;lgmdﬂ.nmpmtu:mnis to the left of C who is
" facing east. Then D is facing : 1))
(A) South (B) North Ec) west (D) East | S \‘

Preferfiae seen =1 mmmﬁﬁ%’qwmmmu >u s}#‘ﬂﬂ g & ;,_ 1

CS1%E721!@I*#¥@A1* #>4U= Beh 1L
Tl SiEre w6 gH W ﬂmmt,ﬁﬁm#ﬁmnﬁ#mmﬁmt?f ///f-,'?/
Ay 0 (B) 2 (C) 3 (D) 1 1
Ohserve mgfmlnwjngscri-:scarcfhllyandmsw&fﬂlequl:ﬂt'mn that follows. {') Cj ‘
CsSI1%ET21'@I"#@AT" #=8U> _5
ﬂ:}r, gecond half of the series is reversed 7 ‘1,-
(A) 0 By 2 {iC) 3 (1

How many numbers are followed by an alphabet if’
13, fhﬂutzmﬁﬂmﬁmﬂﬂmﬂ:mﬁﬁmwﬁﬂﬁﬁhﬂ Hafa |

India’s Gross Domestic Product (GDP) grew by : in the quarter ending September
(A) B.0% (B) B.3% Eiﬁ 9.0% () 7.3%

114, e oy ey et e e A e @ 7 @ '
(A} 4 fie2s 5o %J 6 fie 15 HEE
(8 o 20 B (D) 2 fime 30 dwrs
The light from the Sun reaches the Earth in about how much time 7 9

{A)} 4 minutes 25 seconds {B) 6 minutes 15 seconds
(C)} & minutes 20 seconds {D) 2 minutes 30 seconids

=
L [

.




:
115, et wfiar wm ﬁmmﬂmmhwmm%mﬁﬁ@ﬂwﬁﬂh

. i’ &
= (AN T FeTEm (B) AT
3 J{E} i feran (D) R T ST . .
The Indian Constitution provides for a parliamentary system of government. This system 1
model of which country ? -
- A} United Kingdom B) Canada .
.«' ::':;: i"'t“ﬂm“am gm United States of America
116 MPCHTHwEY 3 o
S Ay et iR ; @) e FES
(C) "R wE TR gn} At e F
The full form of MPC is : @ . G
{A) Money Policy Committee B) Making P““.Cﬂm' s
(C) Monetary Price Committee (D) Monetary Policy Comm!
117, fam fles pos e weiftm 3 e
(A). Frdve s feEw (B) TETEI A
¢ ﬂ i w3 (D) W=l
book Vinaya Pitaka is related to : ‘ A,
(A) Thoughts of Zoroaster $¥B) Preachings of Mahavira
(C)} Rules of the Buddhist Sangha {:{D} Sanskrit Grammar
| 118. GDP 27 45 o afte st e ferg e s fndar ¥ 7
| (a) T B) Tt aifise wETE (NSO)
] (©) g wiengfy i fBfma 9 (SEBI) & A o= ¥ (RB1) .
' j Which Iadian organization is responsible for calcul@jng and releasing the GDP data 7 b
A (A) Ministry of Finance @ (B) National Statistical -::_rl’ﬁwe (NSO)
(lfj} |Secunues and Iéic:hangf. Board of India (SEBI) (D) HReserve Banl;lnf India (RBI)
119, e sl S T T e U v fere F R afE sy
| ) Rrvdiee  (B) UEHmE €y R Eredraeh! m[f;m mlhﬁtﬂtmf!aﬁa
' :-h Russian author is famous for writing the psychological novel “Crime 15 n:.mft :
lll f:;m L::?::E::.r . (B) Anton Chekhov {C) Fyodor Dostoevsky (D) Viadimir Nabokov
1240, ﬁraﬂﬂfﬁrmmami ? g
il (A) THEHIE (B) WERE 0 Gl (D) Tamatas
What i5 the capital of Laos 7 @
(A) Kathmandu (B) Muscat $4C) Lima (D) Vientiane
121, mmmwﬁwaﬁ@ﬁmﬁﬁmﬁﬁgﬁﬂmh
([ CA) RS (VT0) @iB) i g = (IMF)
¢l .&iﬁ_ﬁiﬂﬂiﬁ'ﬂ?ﬂﬁﬂ?{ﬂlm (D) fora ¥
" Which organization is responsible for smooth and predictable trading across the nations ?
(A) World Trade Organization (WTO) (B) International Monetary Fund (IMF)
{C) Bank for International Settlements (BIS) (D) World Bank
T2 T
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122

123

l:dl'

115

116.

127.

128,

129,

[l =
________________________________________

N m—

e i R A O S e /
Wwhal is the GST mate on mobile phones in India ?

(A) 5% (B} 12% (C) 18% (D) 0%

St ufes # e wee € 0 I

How many members are thgre in GST Council % 25

(A) 30 f‘ 33 £ © 40 ()

SR =T TR S = ﬁ B

(A) T FEE S A & () wEEF ;
(C) Ty ) TEH g (D) i EwE ET

What is the first step of research 7

(A} Selecting a problem (B) Finding a problem

(C) Identifying a problem (D) Searching a problem

18 =0 B = 397 3 safen o wnft W FEera g |

(A) =T AR (R Ferim siftw (€)=t SR (D) T A
Mlhumanﬁghmufapmnubelwmcagenrlgmnarckru:mmﬂs . [IE.
(A) Child Rights {B) Special Rights A {C) Legal Rights () Human Rights
(A) T 2004 (B) =EaET 2004 g () = 2006 (D) = 2002
When was Micro Irrigation launched ? &

(A) March 2004 (B) January 2004 @) (C) January 2006 (D) March 2002
Hrrer s oo A w0

(A) gﬂlz;@'& (B) =i f (C) v e (D) T 3% 2N

What does the acronym ‘TBT” stand for on social media 7 :
{A) True Blue Tuesduy (B) Today's Best Thing {C) Throwback Thursday (D) Text Back Time

CRISPR-Cas9 mﬁﬁﬁmmmmmaﬂ: '

(A) FAFHIEA £ (8y 7w s g
(C) R o el Tl & (D) e
The CRISPR-Cas9 technology is used for : &
‘(A) Editing genes E (B) Synthesizing new materials
(C) Detecting earthquakes @ (D) Creating vaccines
et e e 2024 w1 fma (fmy F g @
(A) rFigeay =1 e AT ; AR (B) o
() B Pt 3 Fore = wivenfirferat (D) T & s et )
What is the theme of “National Maritime Day 20247 7 j | ;
(A) Mavigating the Future : Safety First {B) Sustainable Shipping
(C) MNew technologies for greener shipping (D) Amrit Kaal in shipping

e e - e o oo e e e i - ) R O i e
e o e s e
-



130. ﬁmfﬁﬁw&mmﬁmmwh =
(A) e i
(B) mmﬁmmﬁmmﬁmﬁm

3 S g % &

) VR S i et 3 e ®
What i the main goal of a pre-rial conference 15 .r

(A) To conduct jury selection )

(B) T_'-'J prepare for trial and discuss Eetﬂmmr@ptinns
(C) To render a final verdict
(D} To dismiss the case
131. wmaﬁﬁﬁmmmmﬁ%mﬁmﬁmﬁmﬁﬁ.mﬁ.w

T A1 Rt s v & Al wo S
(A) Frerafe (B) wea = () iz wrd drEml (D) -
iz the act of intimidating, t, defaming, or any other form of mental degradation

through the use of electronic means or modes as social media. :
() Cryptojacking  (B) Identity theft @y (C) Credit card fraud (D) Cyberbullying

132.. e o fies snfeerasit = s 3 s e g o) o e 2
(A) % T 3 sge afhe  offs st Shgpan e | nT
(B) % TETEN, Iearar St snidw w5 Wa )
(C) =% A i o =) Pefm = g

(D) = welfi o AT i afenfte w e |

What is the role of artificial intelligence (A} in shaping future global economies 7
(A) It widens the gap between skilled and unskilled workers.
(B) It drives innn‘n._fnllm, productivity and &m‘E?nun: growth.
(C) It regulates global economic slowdown. Ty

(D) Tt replaces all human jobs. Iy
133. mﬂmnﬁ%ﬁaﬁﬁmwwn@mm:
(A) =T (B) =wErE &) (C) swaEEE (D) =qmm
The first successful instance of Satyagraha led By Mahatma Gandhi in India was -
(A) Kheda (B) Bardoli (C) Ahmedabad (D} Champaran
134. A BiIET HATEre forees s | 1% R mmar 7
(A i (B) Eﬁ'ﬂma’mm
(C) Tozim (D) TR Ffta
The Quit India Movement was launched in response to
{A) The Cripps Mission (B) The Jallianwala Bagh massacre
(C) The Rowlatt Act (D) The Simon Commission

--------------




135. ¥ R 2o a0 s g i e e gy et s, s 1 ST

136.

137.

(A) Sg=m2 (B) iede 3 (C) 2ry=da4 g
Which :"f-.nicl-e of the Indian Constitution provides for the formation of new states and i
boundaries or names of existing states 7

(A) Article 2 (B} Article 3 (C) Article 4 (D) Article 1
ﬂ#ﬁﬁuﬁﬁﬂﬂa@rﬂﬁmwﬂﬁﬂmtaﬂwﬁzﬁﬁﬂﬁﬁ T TS = )

(A) = (B) #=§ I (C) o (D) ¥ :
Rabi crops are sown in winter from Dcﬁher to December and harvested in summer me April to
(A) June (B) May E (C) July (D) August

W U g gy

(A) e soar 1 Fmoet ar %

(B) Tt arm =t fafrfirs e

(C) Aol aff aqomon vt stfimrs @
(D)} HATT=T Tod TG o1 T ST
What is the purpose of the Mational Security Guard in India 7
(A)  To oversee border security
Eg; ?2 Ei‘:ih:;? the financial market

uct counter-terrorism “hijacki i
(D} To manage disaster relief mﬁ;:ﬁh—?umhng SR

138, Fretfertare % & = vard e e & w3 R Rl e o

139,

140

141

(A) WeHBEsTTAEE (B) WiEW @& (C) =g i (D) A HTET
Which of the following substances is primaily responsible for acid rain 7

(A) Sulphur dioxide (B) Methane &) (C) Nitrogen gas (D) Carbon monoxide
TN 3T T A T G G S I 0 :

(A) A (B) W & (c) =fawanhE () =

Which country is the world's largest producer of wind power 7

(A) Germany (B) Bhutan (C) South Africa (D} China

WRA & STl F19 § (3 2024 79) 7 7
(C) ot wiz war (D) el TS

Who is the Vice President of India (as of Jug 2024) 7
(A) Sh. M. Hamid Ansari (B) Shri M. Venkaiah Naidu
(C) Shri Dharmendra Pradhan i (D) Shri Jagdeep Dhankhar

2016 T FETEE TRA-STIT T GO GHE IR e 7
(A) HTS] ST 6 ST o W L=

(D) T sy S, SRl gera TR TR A A
What is the purpose of the Indo-Japan civil
(A) Ban on nuclear energy Usage

(B) Establishment of a nuclear-free zone

: ment of nuclear weapons
%E; .Eai;m?ﬂ“ civilian nuclear energy, technology transfer and safety standards

e e S S S O G O G 4 e e S S S 4 - e e o P T G G iy
-
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b mﬁ#m%w#ﬁﬁmﬂﬁmwh _—
ovement of people in and out of an area is called : jgration
(A) Death rate o {H;m];:;ﬂ; rale = (C) Growth rate (D) Migrat
143. 33t qiten Rrafaaremr (aMU) s g ad frd ot 7
In which year was Aligarh Muslim University (AMLU) sct up ? 20
(A) 1877 ey s © 101 . il s &
144, T 2 e fl aﬂr#ﬁmmﬂmﬁﬁﬁﬂﬂﬁ?ﬁw %T?‘;ﬁ
(A) =t (B) ST (C) T ) lIE .) in Hindi and Sanskrit
Which city in Uttar Pradesh is known for ité ﬁdumﬁmﬂ,instiluhnns gpecialiZing
Em:;gl.mgﬁ ? =) (D) Lucknow
) Varenay, (B) Prayagraj (C) Kanpur - P
145. #mmmwmmmmmﬁm%qmmﬁﬂtﬁﬁmﬂﬁ #
A (O AT T ) @ ]
(A) FEEWTEA () e e © WU and received the Nobel Prize in

| 146

147.

148.

149,

150,

Which Indian economist is known for his work on welfare economics
Economic Sciences in 1998 7
(A) Jagdish Bhagwati (B) Manmohan Singh

3 A e o 3 ot o

(C) Raghuram Rajan (D) Amartya Sen

(A) Uitz (B) e (C) ST E= (D) TEAiE Hi

Which author wrote “Jane Eyre™ 7 _ o

(A) Emily Bronte (B) George Eliot (C) ¢Anne Bronte (D) Charlotte Bronte

FrmuE wamhmdewdad ﬁ

(A) 3= (B) = (C) @ (D) THUHCH

Twitter is a - based communication platform, &

(A) Email (B) Chat () @tp (D) SMS

syrier Fergere e 3o 3 e e e 8 7

(A) = BTy i (C) T (D) Furer

India shares the Lipulekh Pass with which country 7

(A) China (B) Pakistan (C) Bangladesh (D) Nepal

o =hifra & st e o T R A e g o

(4) = (B) fifie (C) (g (D) ¥

Which currency is in use in South Korea ? i

(A) Won ~ {B) Ringgit (C) @uan (D) Yen
San St & i e R a1 ek e e & e 1 o 8

(A) BEEFW (B) W (C) @5 ©) Ui

attack is where a computer system or gtwoﬂi@ : :
(A) Hardware () Malware e Ny ik

i [ T
______
__________



